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1) 298 K, 1 bar IZH51F H/AKF - HDE/L T habE— %?r*“@fi %

2) 298K, 1 bar IZB T H H,DE/NL T hu B —4HEE L EHOHFGITEHTE 5,
3) 298 K, 1 bar (Z81F 5 H, DyfRis Hy—2H O ho B —48{k AS &R K,
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* METHIVUIL T2 AV X
Co (EZEH DY) =2.9979 x 10°ms™, h (77> 7 E) =6.6261 x 10°* I s,
R(ENVEIEEE) =83145TK 'mol™!, Nx (7R Ko &%) =6.0221 x 10 mol ™,
ks (R~ EE)=R/N,y=1.3806 x 102 JK ' =0.69503 cm™ K/,
mu("H [+ DB &) = 1.0078 amu, B (H, D[El#izE %K) = 59.336 cm ™.
& OKFHE AL Qe =2 TH D.
" Hy X o=2 0 RITHEETFTHD.

(f)
1) ™S(H)/R = 1.51n(1.0078) + 2.51n(298) — 1.1517 + In(2) = 13.7958,
"S(H) = 13.7958 x 8.3145=114.705=114.7 J K" mol "
2) "S(H,)/R = 1.5In(2.0156) + 2.5In(298) — 1.1517 + 1 + In[0.695036x298/(2x59.336)] = 15.6993,
MS(H,) = 15.6993 x 8.3145 = 130.532 = 130.5 J K ' mol".
3) AS =114.7x2 - 130.5=98.9 T K ' mol". [(13.7958x2-15.6993)xR=11.8923x8.3145=98.9]
1), 2) Atkins R &R "S(H) = 114.71, ™S(H,) = 130.684 (J K™' mol™)
3) * FRBEIINE ST, = b =2 ENAE) T 5O TEIR TR 2 D 09 < e b.
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